
Te
kl

a 
St

ru
ct

ur
es

TRI-CHORD TRUSS
SECTION

ELEVATION VIEW " B " SPAN OTR-01 (SB)

SPAN OTR-01 (SB) VIEW " E "

SPAN OTR-01 (SB) VIEW " F "

RD

3'
-6

7 8/

10
'-1

15
16/

18
'-3

3 4/

25
'-8

1 4/

14
'-6

21
'-1

07
16/

29
'-2

7 8/

7'
-1

1 2/

3'
-3

7 8/

10
'-8

3 8/

18
'-0

13
16/

25
'-5

1 4/

RD

RD7'
-1

11
16/

14
'-6

1 8/

21
'-1

09
16/

29
'-3

1 16/

3'
-3

15
16/

10
'-8

3 8/

18
'-0

13
16/

25
'-5

1 4/

FINISH : HOT DIP GALVANIZED

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

R1-AN4 1 L3-1/2X3-1/2X3/8 5'-4 15/16" 46 HOT DIP GALVANIZED A709-GR.36

R1-AN4 1 ANGLE BEV-2

R1-a3 3 L3-1/2X3-1/2X3/8 8'-3 3/8" 211 A709-GR.36

R1-a4 3 L3-1/2X3-1/2X3/8 5'-4 15/16" 138 A709-GR.36

R1-a6 16 L3-1/2X3-1/2X3/8 6'-1 3/4" 836 A709-GR.36

R1-a12 1 L3-1/2X3-1/2X3/8 8'-3 1/8" 70 A709-GR.36

R1-t7 1 TUBE5 9/16"X3/8" 29'-5 1/16" 602 HOT DIP GALVANIZED API 5L X42 PSL2

R1-t7 1 TUBE SQ-1/BEV-1

R1-p21 8 FL3/8"X6 1/4" 1'-1 1/4" 70 A709-GR.36

R1-p26 2 PD13 9/16"X4" 0'-1 3/8" 93 A709-GR.36

5/8"Ø A325N BOLT 0'-1 3/4"32 Site

R1-t8 1 TUBE5 9/16"X3/8" C=1.5 29'-5 1/16" 602 HOT DIP GALVANIZED API 5L X42 PSL2

R1-t8 1 TUBE SQ-2

R1-p10 4 FL3/8"X5 1/4" 1'-1" 29 A709-GR.36

R1-p12 4 FL3/8"X6 1/4" 1'-1 1/4" 35 A709-GR.36

R1-p26 2 PD13 9/16"X4" 0'-1 3/8" 93 A709-GR.36

5/8"Ø A325N BOLT 0'-1 3/4"32 Site

1"Ø A325N BOLT 0'-4 1/4"9 Site

R1-t9 1 TUBE5 9/16"X3/8" C=1.5 29'-5" 602 HOT DIP GALVANIZED API 5L X42 PSL2

R1-t9 1 TUBE SQ-2

R1-p12 4 FL3/8"X6 1/4" 1'-1 1/4" 35 A709-GR.36

R1-p16 4 FL3/8"X5 1/4" 1'-1" 29 A709-GR.36

R1-p26 2 PD13 9/16"X4" 0'-1 3/8" 93 A709-GR.36

5/8"Ø A325N BOLT 0'-1 3/4"32 Site

1"Ø A325N BOLT 0'-4 1/4"9 Site

TOTAL WEIGHT THIS DRAWING 3586

DUE TO THE CAMBER IN TRUSS
THE PANEL LENGTH WILL VARY
NOTE 2: PLEASE NOTE THAT, HALF

R1-t7

R1-t9

R1-t8

E

F

B

6'-0

6'-0

6'
-0

5'-238/

R1-p10R1-p26

R1-p16

R1-a4

R1-p16

7'-4716/

R1-a3

R1-t9

R1-p10

R1-p26

R1-a3

R1-p16

R1-t8 R1-p26

R1-AN4

R1-p10

R1-a3

R1-p10

R1-a4R1-a12

R1-p16

R1-a4

R1-p26

7'-4716/

DET. J
OTR 01 -1.7S

DET. K
OTR 01 -1.7S

59
16/

138/

138/ 138/

29'-534/
3'-838/7'-4716/7'-4716/7'-4716/3'-8

59
16/

6'
-0

3'-778/7'-4716/3'-814/ 38/

34/

7'-4716/

R1-p26
R1-p12

R1-t7

R1-a6R1-a6

R1-p21

6'
-0

R1-p12

R1-p26

R1-p21 R1-p21 R1-p21

R1-t8R1-p12 R1-p12

R1-a6 R1-a6R1-a6 R1-a6R1-a6 R1-a6

R1-p26

R1-p26

3'-814/7'-4716/7'-4716/7'-4716/3'-814/

138/

138/
138/

138/

3'-814/7'-4716/7'-4716/3'-8316/

38/

51
2/

R1-p26

R1-p26

R1-a6

R1-p21

R1-p26

R1-p12

7'-4716/

R1-p12 R1-p12 R1-t9

R1-p21R1-p21

6'
-0

R1-t7R1-p21

R1-a6 R1-a6

R1-p26

3'-814/

R1-a6R1-a6 R1-a6R1-a6 R1-a6

R1-p12138/ 138/

138/

29'-578/

3'-814/7'-4716/7'-4716/3'-8316/

59
16/

59
16/

7'-4716/7'-4716/7'-4716/3'-814/

38/




